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                                                V ���� 

������ 1.  �) �� �������� �� A  =   0,58198                                                                     (1,5 �!��") 
�� �������� �� B  = 3,84872                                                       (1,5 �!��") 
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�                    (2 �!��")  
 �������� �� ��
����  ( 2,3)                     (1 �!���) 
 
������ 2.  ����������  

V�� ���. = V
�. 
��� + V�� ���.;    V�� ���. = 48,75 + 4,5 = 53,25 ��/� �� ���������  (1,5 �!��") 

V
/� ���. = V
�. 
��� – V�� ���.;           V
/� ���. = 48,75 – 4,5 = 44,25 ��/� 
/� ���������  (1,5 �!��") 

S = V.t         S�� ��� = 53,25 . 1 = 53,25 ��                                                                              (1 �!���)     

S 
/� ���. = 44,25 . 1 = 44,25 ��          (1 �!���)    

 S�� ���. + S
/� ���. = 53,25 + 44,25 = 97,5 ��         (1 �!���)   

102 – 97,5 = 4,5 ��    /���
�������� �/� �
��� ��������/       (1 �!���) 

������ 3.  

�) 
 ������� ��� �� 9 ������ – 8 �
��� ����� ��������  

���������� �� ������ = 9.10+8.0,5+2.5=90+4+10=104 
� = 1040 ��.                           (2 �!��") 

�) 146 – 10 =136:10=13,6 
����
������ �� ������� �� ������ ��� �������� 13 ������ – 12 �
��� 

����� ���. ����
� �!"��� !��� �� �������� �� ������ � 13.9 = 117 !�. ������ 

S �� ���� ������ = 10.10=100 �
.
�. 

#����� �� 

���� ������ =100.117=11700 �
. 
�.                  (3 �!��") 

$) ���
�� ������ �� �������, 
���� ����� ���� �������� ������ 

104.5.2+136.5.2=2400 �
 
�  

2400:100=24 

24.2=48 ��. !�� � ���!������ �� !����

�����.                               (2 �!��") 

 

  �#$%&'�%$�! $ *+"-$+%!. ��$�" �+/� '$+$% '�+"�%� %� +$4$%"$ �$ !#$%&'� � -���"-��$% 
6+!7 �!��". 

�� !6����$% �+8� �$ ����"+�� /�$%"#", *!�/�"�" -"%"-/-  16 �!��". 

 

ma
th-
bg
.co
m

 


���
��� ����


